2024 San Luis Valley



Junior Livestock Sale August 9, 2024

WELCOME!

The SLV Fair Board is pleased to welcome you to this special event, the 122nd San Luis Valley Fair. Tonight's sale represents the culmination of a year's sweat and effort on the part of these outstanding youth and the San Luis Valley Fair Board and Volunteers. Your support is appreciated and we sincerely thank you for your enthusiastic support!

We would like to congratulate all of our youth livestock exhibitors and their families for a year of commitment to these outstanding projects! We congratulate all of you on a job well done!

~ SLV Fair Board

2024 SLV Fair Board

Alamosa County
Jason Tillman – President
Brandy Myers
Nikol Kelley

Rio Grande County
Nick Malone – Treasurer
Jeff Vance
Nicole Rockey - Rio Grande - Secretary

Conejos County

Ty Canty – Vice President

Luis Escobedo

Mineral County
Betsey Strawn
Matt Sliwkowski

Costilla County
Amanda Wakasugi
Ted Cordova

Saguache County Open

Member At Large Chuck Montague

Gold Sponsors

Monte Vista Coop
Mountain Skillz Excavation
Myers Farms LLC
RG Bank
RPE

Silver Sponsors

Bountiful Meats and Processing
Sign Guys and Gal
SLV REC/Ciello
Valley Meat

Bronze Sponsors

A & B Auctions
Alcon Construction
Rustic Rentals
San Luis Valley Federal Bank

Friends of Fair

AgCheck Compliance Services Inc.
Aspen Produce LLC
Colorado Cattlemen's Agricultural Land Trust
Colorado Gourmet

Davis Farms
L&M Auto
Monte Canvas and
Upholstery

Myers Brothers Truck and Tractor Inc.
Price Farms Seed LLC
Ski High Stampede

Buckle Sponsors

7L Diamond Ranch Agro Engineering Alamosa State Bank

Alamosa State Bank

Alicia Berlinger

American Family Insurance

Bar Two Bar Ranch

Brady Farms

Brandon and Michelle Vannoy

Broken Arrow Ranch and Land Company

Cary Cattle Services

Cattleman's Association

Chuck and Val Finnegan

Cimmaron Muniz Handyman

Sassy Grandparents

Colorado Realty and Land

Comfort Zone

Cooley and Sons Excavating Inc.

Coombs Farms

Creede and Mineral County Chamber

Dobbs Enterprises

Dry Valley Farms

EXIT Silver Thread Realty Flintham Hills Ranch

Gary and Jody Seger

Hi Valley Ranch LLC

Hogues Glass

Huckleberry Leather

In Memory of Logan Smith

J Kopasz Construction

Johnson Ranches INC

Jubilee Farms

Justin and Kim Cordova

Larry and Ruthie Brown

Leon Bolt

Linder Feeds by Jason and Heather Tillman

Malouff Boer Goats

McB's Laundromat in South Fork

Metz Potato

Mosby Farms

My Sister's Pantry

Nissen Farms LLC

Proximity Malt LLC

Rabbit Supporters

Reynolds Tree Service Rio Grande Dairy Rio West Boer Goats

Rob and Sarah Stoeber

Robert Holman

Rod and Bonnie Bolt

S5 Show Stock

San Acacio Seed

Schneider Farms

Schulz Realty

Sims Trucking

SLV 4H Scholar Support

SLV Quality Concrete

Smalley Angus

Sunset Grill LLC

Superior Staining by Cade and Ashley Huffaker

Tiffany and Atsa Valdez

Trinchera Ranch

Valley Floors-LLC

Valley Smiles

Van Treese Farms

Weiscamp LLC

Wookey Logistic Inc.

Indoor Sponsors

AgCheck Compliance Services Inc.
Aspen Produce LLC
Colorado Cattlemen's Agricultural Land Trust
Colorado Gourmet

Davis Farms L&M Auto Monte Canvas and Upholstery Myers Brothers Truck and Tractor Inc.
Price Farms Seed LLC
Ski High Stampede

2024 SLV Fair Superintendents

Overall 4-H General & Home Economics/FFA

Kallie Shawcroft

Open Class

Brandy Myers

4-H General & Home Economics

Departments

Wanetta Tipsword, Hannah Thrill, Angel Neely-Smith, Madeline Wilson, Carol Gurule, Amity Nicholson, Daisy Medina, Theresa Kaiser-Griffin, Mattea Freel

Overall Open & 4-H/FFA Livestock

Mark Brown

Overall Small Animal

Betsey Strawn

Beef

Clay Brown

Sheep

Gracie Porter

Swine

Heather Tillman

Goats-Market &

Breeding Meat Production

Mackenzy Murphy

Goats-Dairy

Jeri Trujillo

Poultry

Christine Strawn

Rabbits

Crystal Voss

4-H & Open Dog

Amber Garrison

Overall Horse

Krista Culver
Jennifer Vandiver

Horse - Gymkhana

Jill Francis

Horse - English/Western

Vacant

Horse - Ranch Horse

Vacant

2024 County Sponsors

Alamosa County Conejos County Costilla County Mineral County Rio Grande County Saguache County

2023 Buyers

The San Luis Valley Fair Board would like to thank the following business, organizations, groups and individuals for their support of the 2023 Junior Livestock Auction.

2023 Grand Champion Buyers

Grand Champion Lamb - Emily Seger bought by Consaul Farms
Grand Champion Goat - Jessilynn Malouff bought by Dobbs Enterprises
Grand Champion Swine - Elaina Consaul bought by Chris and Roxann Sittler
Grand Champion Beef - Burke Temple bought by Monte Vista Coop
Grand Champion Poultry Pen of 3 - Alia Yund bought by Conejos County Rotary
Grand Champion Rabbit Single Fryer - Leah Sirochman bought by Lenco West
Grand Champion Rabbit Pen of 3 - Leah Sirochman bought by World Fuel Services/Alta Fuels

2023 Reserve Champion Buyers

Reserve Champion Lamb - Coulter Myers bought by Dave Warsh
Reserve Champion Goat - Reese Anderson bought by Consaul Farms
Reserve Champion Swine - Aubrey Naranjo bought by Cultivating Hearts
Reserve Champion Beef - Kaysen Johnson bought by Lenco West
Reserve Champion Poultry Pen of 3 - Alia Yund bought by Alamosa State Bank
Reserve Champion Rabbit Single Fryer - Kaylee Voss bought by Polished Edge
Receive Champion Rabbit Pen of 3 - Leah Sirochman bought by Alpine Vet

2023 Buyers

21St Century Equipment 4Rivers Equipment LLC

AB Masonry, LLC

Agro Engineering

Alamosa State Bank

Alcon Construction

Alpine Vet

Alta Convenience

Asbell Farms

B & B Farms

Beau Temple

Beverly Strnad

Bill Clark Truck Line

Blanca Forestry

Bob Freese

Booth Ranches

Brenda Hoffstaetter

Center Kiwanis

Chris & Roxann Sittler

CIA-Leavitt Insurance

Cinch Jeans

Comfort Zone Insulation

Conejos County Rotary

Consaul Farms

Cooley & Sons Excavating

Cottonwood Dental

Cultivating Hearts

Dave Warsh

Dobbs Enterprises

Dry Valley Farms

Elk Creek Vet Clinic

Everything Auto and Diesel LLC

Fares & Amy Jacquez

Farm Credit of So Colorado

Farm Fresh Direct

First Southwest Bank

Freemon's Guest Ranch

Garrison Fence

Good Speed Automotive

Him and Lisa Jaminet

J & S Breakaway Corp

Jim McCullough

J Kopasz Construction

Jody Kern

Johnson Ranch

Kim & Eryn Wintz

La Junta Livestock

Lenco West

McBartlett Holdings LLC

McClave State Bank

Melanie & Andy Dickey

Mill Iron Cattle

Mineral County

Monte Vista Coop

Monte Vista Livestock Auction

Mosby Farms

Mosca Pit Stop

Mountain Skillz Excavating

Myer's Farms LLC

PEF, Inc.

Plant Nutrient Solutions

Polished Edge

Richard Acheson

Rio Grande Seed & Grain

Rob and Val Reifschneider

Rocky Mountain Ag

Rodney & Jeanne Archer

Roger Cole

San Luis Valley Federal Bank

Schneider Farms

Schulz Realty

SLV Fair Boosters

SLV Quality Concrete

SLV Rural Electric Coop

Sorum Tractor

Steffens Quality Plumbing & Heating, Inc.

Sunflower Bank

Tess Christensen

Torben Walters Insurance Agency

Town & Country

Trinchera Ranch

US Tractor

Wall Smith Bateman

White Rock Specialties

Wilbur-Ellis

World Fuel Services/Alta Fuels

Worley Family Farms

2024 JUNIOR LIVESTOCK SALE INFORMATION

<u>AUCTIONEER</u> Brady Stagner

RINGMEN

Pete Stagner

Mark Beiriger

Rod Reynolds

David Brown

PROCESSING

Allows the Buyer to choose which processing company they would like their animal to go to and have it custom processed at their cost. The SLV Fair Board will ensure delivery of animal(s) to processor.

PROCESSORS

No small animals may be sent for processing

Bountiful Meats & Processing – 719-580-2098 C-K Processing – 719-588-5183 Timberline Processing – 719-992-1951 Mel's Meat Processing – 719-843-5850 Glynn's Processing – 719-589-3540 E N M Butchering 71-992-8334

PAYING YOUR INVOICE

It's best to pay your invoice the night of the sale. The Fairboard can't issue a check to the child until we have a confirmed payment from the buyer. A timely payment helps this process.

UNDERSTAND THE BUY BACK

The buyback allows the buyer to resell a purchased animal through the SLV Fair Board. The floor price listed in the sale sheet will be deducted from the overall bid price.

BUY BACK FOR 2024

Beef – John John Malouff \$1.70 lb Mini Herfords – Rafter P Ranch LLC \$1.00 Lamb – John John Malouff \$1.50 Goats – John John Malouff \$2.00

Swine – Mark Brown \$.85

SLV FAIR JUNIOR MARKET LIVESTOCK SALE BUYING POOLS

Do you want to support exhibitors at the Livestock Sale but don't want to purchase a whole animal alone? Partnering with a neighbor or contacting one of the following buying pools is a great way to support the Sale.

Kiwanis Club of Center

The Kiwanis Club of Center has as one of its major projects, the pooling of community funds for the purpose of maintaining a floor on the price of the livestock sold at the SLV 4-H FFA Livestock Auction. This floor guarantees that all youth have a fair return for their efforts of livestock production projects and are able to bank some money. The youth use their money to pay feed and other expenses, and then set some aside for the next years project or for college expenses.

We do not want to purchase all the animals but we want to see all the youth earn a fair return and to show a profit for their labors.

Junior Livestock Sale Boosters

The Jr. Livestock Sale Boosters has a mission of improving the SLV Fair Sale by having an unbiased approach in upholding the sale prices of the market animals and improving the profitability of the market animal projects. We accomplish this by actively bidding on and purchasing animal projects in the SLV Fair Sale as well as providing add-on money for projects that appear to have sold below market, based on conditions in sale orders, placing and animal species.

Conejos County Rotary

PO Box 145, La Jara, CO 81140

Sale Program

2024 San Luis Valley Fair

Sale #	Exhibitor / Description / Awards	Entry #	Animal ID's	Check-In Weight	Floor Price per Pound	Floor Price	Bid Price
1	Anderson, Reese	774	244	93	2	\$186.00	\$0.00
	Market Goat - Show Class 10						
	Grand Champion Meat Goat,						
	Grand champion Goat Showman						
2	Walker, Grant	15	1090, 1091, 1092	0	0	\$0.00	\$0.00
	Market Poultry (Pen of 3)						
	Grand Champion Pen of 3						
3	Garcia, Maelyn	310	winnerwinner	0	0	\$0.00	\$0.00
	Market Turkey (young turkey or either sex)						
	Grand Champion Market Turkey				ı,		
4	Tipsword, Westlea	324	men in black	0	0	\$0.00	\$0.00
	Market Water Fowl						
	Grand Champion Market Waterfowl						
5	Sirochman, Leah	680		0	0	\$0.00	\$0.00
	Meat pens (3 rabbits of same breed & variety) - Show Class 1 Grand Champion Market Rabbit						
6	Sirochman, Leah	681		0	0	\$0.00	\$0.00
	Single Fryer (not over 70 days and not over 5 lbs) - Show Class 1 Grand Champion Market Rabbit	-					
7	Naranjo, Aubrey	740	261	271	0	\$0.00	\$0.00

300

	Swine Dark Cross Heavy Weight - Show Class 1 Breed Champion, Grand Champion Market Hog, Overall Grand Champion Market Swine Reserve Int Swine Showman						
8	Johnson, Kaysen	1485	37	1319	1.7	\$2242.30	\$0.00
O	Market Beef - Show Class 5 Grand Champion Beef	1403	o,	1010	1.7	WZZ-7Z.30	ψ0.00
9	Mattive, Lane Grand Champion Overall Market Lamb Crossbred - Show Class 6	221	149	156	0	\$0.00	\$0.00
10	Malouff, Jocelynn	1450	131	79	0	\$0.00	\$0.00
	Market Goat - Show Class 6 Reserve Champion Meat Goat, Reserve Champion Market Goat Champion Int Goat Showman						
11	Sirochman, Leah Meat pens (3 rabbits of same breed & variety) - Show Class 1 Reserve Champion Market Rabbit	679	#3447784	0	0	\$0.00	\$0.00
12	Sirochman, Weston Single Fryer (not over 70 days and not over 5 lbs) - Show Class 1 Reserve Champion Market Rabbit	1124		0	0	\$0.00	\$0.00
13	Yund, Alia Market Poultry (Pen of 3) Reserve Champion Pen of 3 Herdsman	1087	004, 005, 006	0	0	\$0.00	\$0.00
14	Tipsword, Westlea Market Turkey (young turkey or either sex) Reserve Champion Market Turkey	337	pickle	0	0	\$0.00	\$0.00

15	Tipsword, Westlea	325	goose	0	0	\$0.00	\$0.00
15	Market Water Fowl			2000			
	Reserve Champion Market Waterfowl						
	Trees. To Shampion Market Valenom						
16	Consaul, Makenzie	1360	401	259	0	\$0.00	\$0.00
	Dark Cross Medium Weight - Show Class 2						
	Grand Champion Market Hog, Breed Reserve						
	Champion, Overall Reserve Champion Market Swine						
	Grand Senior Swine Showman						
17	Johnson, Trace	1486	38	1370	1.7	\$2329.00	\$0.00
	Market Beef - Show Class 6						
	Reserve Champion Beef						
 18	Circa Magdia	470	179	146	0	\$0.00	\$0.00
10	Sims, Macklie Reserve Champion Market Lamb						
	Grand Jr. Lamb Showman						
	Crossbred - Show Class 5						
 19	Malouff, Samuel	1242	133	65	0	\$0.00	\$0.00
19	Market Goat - Show Class 2				T.		
	Herdsmen						
	Herdamen						
20	Voss, Kaylee	1278		0	0	\$0.00	\$0.00
	Meat pens (3 rabbits of same breed & variety) -						
	Show Class 1 Herdsmen						
21	Garcia, Isaac	317	001, 002, 003	0	0	\$0.00	\$0.00
	Market Poultry (Pen of 3)						
	mander salay (i on or or						
22	Sliwkowski, Tyler	465	423	258	0.85	\$219.30	\$0.00
	, - , - ,		II.				

	Herdsman				Ì		
23	Reynolds, Clara Market Beef - Show Class 4 Herdsman	455	47	1245	0	\$0.00	\$0.00
24	Seger, Emily Swine Dark Cross Heavy Weight - Show Class 1 Herdsman Grand Champion Sr Lamb Showman	96	334	270	0	\$0.00	\$0.00
25	Vance, Darian SwineLight Cross Medium Weight - Show Class 1	1372	329	263	0.85	\$223.55	\$0.00
26	Temple, Kade Market Beef - Show Class 6 Grand Sr. Beef Showman Grand Champion Beef Bred & Fed	560	30	1427	1.7	\$2425.90	\$0.00
27	Montague, Skylar Swine Hampshire Heavy Weight - Show Class 1 Reserve Swine Bed & Fed	1758	413	266	0	\$0.00	\$0.00
28	Reynolds, Nahli Market Beef - Show Class 5 5th Overall Market Beef Reseve Beef Bred & Fed	458	48	1314	0	\$0.00	\$0.00
29	Pacheco, Jessamy Lamb Crossbred - Show Class 6 Reserve Int Goat Showman Reserve Goat Bred & Fed	1633	137	150	0	\$0.00	\$0.00
30	Gonzalez, Jayir Market Goat - Show Class 3	609	186	70	0	\$0.00	\$0.00

= 12

		1 1		i i	Ĩ	1	Ì
31	Malouff, James Market Goat - Show Class 2	1245	134	66	0 \$	60.00	\$0.00
32	McGraw, Kamrin Market Goat - Show Class 4	224	118	72	0 8	\$0.00	\$0.00
33	McGraw, Karsin Market Goat - Show Class 1	228	119	64	0 8	\$0.00	\$0.00
35	McBartlett, Corbin Market Goat - Show Class 11	1018	215	111	0 9	\$0.00	\$0.00
36	Reynolds, Khaleesi Market Goat - Show Class 10 Grand Jr Goat Showman	416	217	93	2 \$	186.00	\$0.00
37	Kreps, Trista Market Goat - Show Class 6 4th Overall Market Goat	1240	121	80	0	\$0.00	\$0.00
38	Simmons, Tynlee Market Goat - Show Class 4	19	158	72	0	\$0.00	\$0.00
39	Paulson, Elizabeth Market Goat - Show Class 5	210	169	75	2 \$	150.00	\$0.00

÷ ...

				Ī	Î	Ĭ	ĺ
40	Reynolds , Cooper Market Goat - Show Class 11	395	216	105	2	\$210.00	\$0.00
41	Vannoy, Emily Market Goat - Show Class 8	624	198	87	0	\$0.00	\$0.00
42	Vannoy, Luke Market Goat - Show Class 11	640	195	103	0	\$0.00	\$0.00
43	Smith, Olivia Market Goat - Show Class 4	1165	172	71	0	\$0.00	\$0.00
44	Livingstone, Faith Market Goat - Show Class 2	1192	203	65	0	\$0.00	\$0.00
45	Schneider, McKenzie Market Goat - Show Class 10	1254	159	93	0	\$0.00	\$0.00
46	Gonzales, Kruz Market Goat - Show Class 1	1348	177	60	2	\$120.00	\$0.00
47	Garcia, Elijah Market Water Fowl	52	hiss	0	0	\$0.00	\$0.00

*

- 2

55	Rockey, Ellaree	1053	385	240	0	\$0.00	\$0.00
54	McBartlett , Averie Swine Hampshire Heavy Weight - Show Class 1	1016	356	278	0	\$0.00	\$0.00
53	Montague, Tyson Swine Light Cross Medium Weight - Show Class 1 Breed Reserve Champion	503	418	245	0	\$0,00	\$0.00
52	Wells, Toni Single Fryer (not over 70 days and not over 5 lbs) - Show Class 1	1	T24	0	0	\$0.00	\$0.00
51	Voss, Alyssa Single Fryer (not over 70 days and not over 5 lbs) - Show Class 1	1274	K8	0	0	\$0.00	\$0.00
50	Black, Hailey Meat pens (3 rabbits of same breed & variety) - Show Class 1	882		0	0	\$0.00	\$0.00
49	Brown, Elijah Meat pens (3 rabbits of same breed & variety) - Show Class 1	193	E09 (buck), E10 (doe), E11 (doe)	0	0	\$0.00	\$0.00
48	Pulido, Meliyani Market Turkey (young turkey or either sex)	302	dinner	0	0	\$0.00	\$0.00

	Swine Dark Cross Light Weight - Show Class 1						
57	Consaul, Elaina Swine Other Pure Breeds Medium Weight - Show Class 1 Breed Champion, 4th Overall Market Hog Grand Int Swine Showman	1356	404	257	0	\$0.00	\$0.00
58	Jaminet, Jaelie Swine Dark Cross Medium Weight - Show Class 1	232	420	255	0.85	\$216.75	\$0.00
59	Naranjo, Durae Swine Dark Cross Heavy Weight - Show Class 1 Reserve Swine Showman	744	259	279	0	\$0.00	\$0.00
60	Entz, Elly Swine Dark Cross Medium Weight - Show Class 2	1188	247	256	0	\$0.00	\$0.00
61	Eskew, Zaine Swine Other Pure Breeds Medium Weight - Show Class 1	835	461	233	0.85	\$198.05	\$0.00
62	Jaminet, Taela Swine Dark Cross Light Weight - Show Class 1	274	421	236	0.85	\$200.60	\$0.00
63	Montague, Sydney Swine Hampshire Light Weight - Show Class 1	493	414	242	0	\$0.00	\$0.00

= "__

	Ì	ĩ	Ĩ i	1	ĺ		Ì
64	Edgar, Hadley Swine Berkshire Medium Weight - Show Class 1	912	371	285	0.85	\$242.25	\$0.00
65	Larsen , Logan Swine Dark Cross Medium Weight - Show Class 1	1298	253	253	0	\$0.00	\$0.00
66	Vance, Jayden Swine Light Cross Heavy Weight - Show Class 1	1384	326	285	0.85	\$242.25	\$0.00
67	Culver, Kenna Swine Hampshire Heavy Weight - Show Class 1	1457	358	284	0	\$0.00	\$0.00
68	Kelley, Isaiah Swine Dark Cross Medium Weight - Show Class 2	1756	244	267	0	\$0.00	\$0.00
69	Keys, Jaycee Swine Light Cross Light Weight - Show Class 1	746	323	237	0	\$0.00	\$0.00
70	Miller, Cody Swine Hampshire Light Weight - Show Class 1	368	275	232	0	\$0.00	\$0.00
71	Crowther, William	550	345	260	0	\$0.00	\$0.00

. .

	Swine Hampshire Medium Weight - Show Class 1						
72	Crowther, Claire Swine Berkshire Medium Weight - Show Class 1	553	FAMILY 463	265	0	\$0.00	\$0.00
73	Keys, Forrest Swine Hampshire Heavy Weight - Show Class 1	750	322	273	0	\$0.00	\$0.00
74	Paulson, Bryson Market Beef - Show Class 4 4th Overall Market Beef	207	3	1300	1.7	\$2210.00	\$0.00
75	Pence, Ada Market Beef - Show Class 1 Reserve Sr Beef Showman	1495	1	898	0	\$0.00	\$0.00
76	Buhr, Tynnley Market Beef - Show Class 2 Grand Champion Int Lamb Showman	1519	6	1103	0	\$0.00	\$0.00
77	Pargin, Kandace Market Beef - Show Class 2	828	25	1056	1.7	\$1795.20	\$0.00
78	Johnson, Tyson Market Beef - Show Class 6 3rd Overall Market Beef Grand Int Beef Showman	1499	35	1433	1.7	\$2436.10	\$0.00
79	Edgar, Roman	915	21	1021	1.7	\$1735.70	\$0.00

= -

	Market Beef - Show Class 1						
80	Hanel, Kynzleigh Market Beef - Show Class 4 Reserve Int Goat Showman	146	12	1282	1.7	\$2179.40	\$0.00
81	Henderson, Gage Market Beef - Show Class 3 Reserve Jr. Beef Showman	766	7	1206	0	\$0.00	\$0.00
82	Pargin, Kimberly Market Beef - Show Class 4	830	24	1285	0	\$0.00	\$0.00
83	Pence, Ledoux Market Beef - Show Class 1	1511	2	811	0	\$0.00	\$0.00
84	Villagomez, Liliana Lamb Crossbred - Show Class 3	1354	198	125	0	\$0.00	\$0.00
85	Myers, Corbin Lamb Crossbred - Show Class 6	509	193	156	0	\$0.00	\$0.00
86	Barr, Brigston Lamb Natural - Show Class 1	1305	141	141	0	\$0.00	\$0.00
87	Seger, Hannah Lamb Crossbred - Show Class 2	110	134	120	0	\$0.00	\$0.00

= =

_

	Reserve Int Lamb Showman			Ì	Ì		9
88	Mattive, Cason Lamb Crossbred - Show Class 5	216	151	146	0	\$0.00	\$0.00
89	Myers, Colsen Lamb Crossbred - Show Class 6	512	194	161	0	\$0.00	\$0.00
90	Buhr, Ryker Lamb Crossbred - Show Class 3	1547	188	125	0	\$0.00	\$0.00
91	Mondragon, Jacey Lamb Lamb Crossbred - Show Class 4 Reserve Senior Lamb Showman	1645	120	134	0	\$0.00	\$0.00
92	Eskew, Saida Lamb Crossbred - Show Class 1	825	122	104	1.5	\$156.00	\$0.00
93	Seger, Rachel Lamb Dorset - Show Class 1 Reserve Jr. Lamb Showman	121	136	103	0	\$0.00	\$0.00
94	Sanderson, Eliza Lamb Other Pure-Bred - Show Class 1	487	155	147	0	\$0.00	\$0.00
95	Entz, Ashley Lamb Crossbred - Show Class 3	1179	110	122	0	\$0.00	\$0.00

		1534	173	153	0	\$0.00	\$0.00
96	Salazar, Katelynn Lamb Crossbred - Show Class 6	1354	173	133	Ü	φ0.00	\$0.00
97	Valdez, Anicia Market Goat - Show Class 6	75	175	80	0	\$0.00	\$0.00
98	Shawcroft, McKenna Market Goat - Show Class 1	170	224	61	0	\$0.00	\$0.00
99	Vannoy, Payson Market Goat - Show Class 9	645	192	92	0	\$0.00	\$0.00
100	Olsen, Jonathan Market Goat - Show Class 11	709	144	106	2	\$212.00	\$0.00
101	Mahan, Jaelynn Market Goat - Show Class 2	1213	207	67	0	\$0.00	\$0.00
102	Malouff, Dillon Market Goat - Show Class 10	1465	125	93	0	\$0.00	\$0.00
103	Vannoy, Jaxon Market Goat - Show Class 9	633	189	91	0	\$0.00	\$0.00
		750	1 000	 	^	#0.00	60.00

104	Robinson, Andrew Market Goat - Show Class 10	/50	232	99	U	\$ ∪.∪∪	\$0.00
105	Mondragon, Addison Market Goat - Show Class 5	911	137	75	0	\$0.00	\$0.00
106	Hostetter, Landon Market Goat - Show Class 5	82	225	74	0	\$0.00	\$0.00
107	Morgan, Pearl Market Goat - Show Class 7	142	164	81	0	\$0.00	\$0.00
108	Arellano, Juliannah Market Goat - Show Class 1	1216	206	62	0	\$0.00	\$0.00
109	Smith, Dakota Market Goat - Show Class 8	1309	122	87	0	\$0.00	\$0.00
110	Ortiz, Emilio Market Goat - Show Class 4	1603	138	71	0	\$0.00	\$0.00
111	Booth, Emma Market Goat - Show Class 2	26	181	68	0	\$0.00	\$0.00
112	Juarez, Elyas	871	389	270	0	\$0.00	\$0.00

	Swine Light Cross Heavy Weight - Show Class 1						
113	LePlatt, Tyler Swine Dark Cross Heavy Weight - Show Class 1	1064	370	289	0.85	\$245.65	\$0.00
114	Pence, Bristol Swine Dark Cross Medium Weight - Show Class 1	1502	355	254	0	\$0.00	\$0.00
115	Canty, Tucker Swine Dark Cross Medium Weight - Show Class 2	1729	434	264	0	\$0.00	\$0.00
116	Cortez, Tobias Swine Hampshire Light Weight - Show Class 1	357	396	238	0	\$0.00	\$0.00
117	Escobedo, Elena Swine Dark Cross Light Weight - Show Class 1	533	393	241	0.85	\$204.85	\$0.00
118	Johnson, Jayce Swine Duroc Medium Weight - Show Class 1	814	269	269	0	\$0.00	\$0.00
119	Crowther, Kaisley Swine Dark Cross Medium Weight - Show Class 2	918	430	257	0	\$0.00	\$0.00

-

120	Gartrell, Riggin Swine Berkshire Medium Weight - Show Class 1	1159	433	262	0	\$0.00	\$0.00
121	Tillman, Syrie Swine Dark Cross Medium Weight - Show Class 1 Reserve Jr Swine Showman	1578	308	253	0	\$0.00	\$0.00
122	Ruybal, Rhex Swine Other Pure Breeds Medium Weight - Show Class 1	762	409	267	0	\$0.00	\$0.00
123	Crowther, Kamry Swine Dark Cross Medium Weight - Show Class 1	920	429	250	0	\$0.00	\$0.00
124	Harmon, Braxdyn Swine Light Cross Medium Weight - Show Class 1 Grand Champion Jr Swine Showman	1113	339	251	0.85	\$213.35	\$0.00
 125	Larsen, Maggie Swine Dark Cross Medium Weight - Show Class 2	1301	255	264	0	\$0.00	\$0.00
126	Crowther, Harper Swine Berkshire Medium Weight - Show Class 1	1772	FAMILY 342	256	0	\$0.00	\$0.00
127	Cerny, Samantha Swine Berkshire Medium Weight - Show Class	526	374	244	0	\$0.00	\$0.00

135	Cary, Kaden	671	49	1001	0	\$0.00	\$0.00
134	Reynolds , Bryndal Market Beef - Show Class 5 Grand Jr Beef Showman	451	45	1334	0	\$0.00	\$0.00
133	Johnson, Koy Market Beef - Show Class 6	1497	32	1454	1.7	\$2471.80	\$0.00
132	Valdez, Ayanah Lynn Market Beef - Show Class 3	263	15	1137	0	\$0.00	\$0.00
131	Peterson, Hayden Swine Dark Cross Medium Weight - Show Class 2	1610	363	261	0	\$0.00	\$0.00
130	Ruybal, Johnny Swine Other Pure Breeds Medium Weight - Show Class 1	764	408	281	0	\$0.00	\$0.00
129	Larsen, Camdon Swine Hampshire Medium Weight - Show Class 1	582	350	245	0	\$0.00	\$0.00
128	Crowther, Cooper Swine Light Cross Medium Weight - Show Class 1	546	344	256	0	\$0.00	\$0.00
	Ĩ						

.

-

	Market Beef - Show Class 1						
136	Reynolds, Riley Market Beef - Show Class 2	1169	20	1044	0	\$0.00	\$0,00
137	Cortez, Diego Market Beef - Show Class 2	353	44	1111	0	\$0.00	\$0.00
138	Jackson, Jessica Market Beef - Show Class 3	611	26	1137	0	\$0.00	\$0.00
139	Harmon, Rylie Market Beef - Show Class 6 Reserve Int Beef Showman	1111	11	1531	0	\$0.00	\$0.00
140	Reynolds, Colton Market Beef - Show Class 5	1168	23	1332	0	\$0.00	\$0.00
141	Cary, Brevan Market Beef - Show Class 6	670	50	1427	0	\$0.00	\$0.00
142	Huffaker, Zane Market Beef - Show Class 3	1034	28	1129	0	\$0.00	\$0.00
143	Fobert, Brecklyn Lamb Crossbred - Show Class 4	213	126	132	0	\$0.00	\$0.00

-

- H)

-

2 mg.

					(1)		
144	Jacquez, Alec Lamb Dorset - Show Class 1	558	182	124	0	\$0.00	\$0.00
145	Garrison, Kristin Lamb Natural - Show Class 1	869	160	134	0	\$0.00	\$0.00
146	Claunch, Cysco Lamb Crossbred - Show Class 6	1120	148	149	1.5	\$223.50	\$0.00
147	Torres, Levi Lamb Crossbred - Show Class 2	1482	200	121	0	\$0.00	\$0.00
148	Maez, Julian Lamb Natural - Show Class 1	103	168	126	1.5	\$189.00	\$0.00
149	Brittain, Lucy Lamb Crossbred - Show Class 3	785	154	126	0	\$0.00	\$0.00
150	Barela, Aspen Lamb Crossbred - Show Class 1	1371	201	110	0	\$0.00	\$0.00
151	Torres, Oliver Lamb Crossbred - Show Class 2	1480	199	121	0	\$0.00	\$0.00

		Î Î			- 1		
152	Buhr, Avi Lamb Crossbred - Show Class 4	1537	189	129	0	\$0.00	\$0.00
153	Hostetter, Lilian Market Goat - Show Class 8	78	226	87	0	\$0.00	\$0.00
154	Miller, Wyatt Market Goat - Show Class 4	369	188	72	0	\$0.00	\$0.00
155	Smith, Ethan Market Goat - Show Class 5	1162	173	75	0	\$0.00	\$0.00
156	Gonzalez, Samuel Market Goat - Show Class 7	606	187	83	0	\$0.00	\$0.00
157	Huffaker, Logan Market Goat - Show Class 3	1312	240	69	0	\$0.00	\$0.00
158	Malouff, Jessilynn Market Goat - Show Class 6 Reserve Int Goat Showman	1475	129	80	0	\$0.00	\$0.00
159	Shawcroft, Trinity Market Goat - Show Class 10	158	221	95	0	\$0.00	\$0.00

- -

-

160	Huffaker, Russell Market Goat - Show Class 3	1319	238	70	0	\$0.00	\$0.00
161	Hostetter, MaryAnn Market Goat - Show Class 7	84	227	81	0	\$0.00	\$0.00
162	Robinson, Toby Market Goat - Show Class 6	759	231	77	0	\$0.00	\$0.00
163	Sanchez, Joshua Market Goat - Show Class 8	1532	234	88	0	\$0.00	\$0.00
164	Huffaker, Makenzie Market Goat - Show Class 4	1336	242	73	0	\$0.00	\$0.00
165	Schneider, Brooklyn Market Goat - Show Class 9	1270	161	92	0	\$0.00	\$0.00
166	Sanchez, Elijah Market Goat - Show Class 7	1522	233	82	0	\$0.00	\$0.00
167	Tillman, Rorie Swine Dark Cross Medium Weight - Show Class 1	1755	304	255	0	\$0.00	\$0.00
-		201	404	2000		#0.00	

168	Crowther, Braylee Swine Light Cross Medium Weight - Show Class 1	924	431	200	U	\$ U.UU	\$0.00
169	Caldon, Jewel Swine Hampshire Medium Weight - Show Class 1	1551	427	246	0.85	\$209.10	\$0.00
170	Devora, Carmelo Swine Dark Cross Heavy Weight - Show Class 1	1585	272	281	0.85	\$238.85	\$0.00
171	Larsen, Raelan Swine Light Cross Medium Weight - Show Class 1	601	351	253	0	\$0.00	\$0.00
172	Juarez, Elyan Swine Dark Cross Heavy Weight - Show Class 1	874	388	272	0	\$0.00	\$0.00
173	Shirley, Ryan Swine Dark Cross Light Weight - Show Class 1	897	452	235	0	\$0.00	\$0.00
174	Caldon, Stockton Swine Other Pure Breeds Medium Weight - Show Class 1	1362	428	269	0.85	\$228.65	\$0.00
175	Sliwkowski, Brooke Swine Dark Cross Heavy Weight - Show Class 1	463	425	276	0	\$0.00	\$0.00

	Ĭ	1	Ī	ĬĬ.	ï	ĩ	Ĩ
176	Tedford, Forrest Swine Dark Cross Light Weight - Show Class 1	1647	333	236	0.85	\$200.60	\$0.00
177	Maxwell, Johnathon Swine Light Cross Medium Weight - Show Class 1	1284	367	250	0.85	\$212.50	\$0.00
178	Livingstone, Isaiah Swine Light Cross Medium Weight - Show Class 1	1206	380	260	0	\$0.00	\$0.00
179	Martin, Kendrick Market Beef - Show Class 1	1140	19	1019	1.7	\$1732.30	\$0.00
180	LePlatt, Tiffany Market Beef - Show Class 5	1062	5	1354	1.7	\$2301.80	\$0.00
181	Culver, Lawson Market Beef - Show Class 5	164	9	1317	0	\$0.00	\$0.00
182	Sisneros, Clarissa Lamb Crossbred - Show Class 5	23	164	141	1.5	\$211.50	\$0.00
183	Valdez , Uriah Lamb Dorset - Show Class 1	254	161	121	0	\$0.00	\$0.00

*

.

184	Sanderson, Allegra Lamb Crossbred - Show Class 2	486	156	116	0	\$0.00	\$0.00
185	Garrison, Brandi Lamb Crossbred - Show Class 6	674	159	162	0	\$0.00	\$0.00
186	Johnson, Ada Lamb Crossbred - Show Class 3	816	157	123	0	\$0.00	\$0.00
187	Lopez, Jesse Lamb Crossbred - Show Class 1	1550	165	113	0	\$0.00	\$0.00
188	Bechaver, Dustin Lamb Natural - Show Class 1	1733	176	106	0	\$0.00	\$0.00
190	Jaramillo, Jayden Lamb Crossbred - Show Class 3	853	169	122	1.5	\$183.00	\$0.00
191	Cordova, Nova Lamb Crossbred - Show Class 5	1582	163	139	0	\$0.00	\$0.00
192	Matt-Mondragon, Jordyn Lamb Dorset - Show Class 1	1658	118	104	0	\$0.00	\$0.00

193	Barela, Braydyn Lamb Crossbred - Show Class 3	1378	202	127	0	\$0.00	\$0.00
195	Salazar, Jayce Lamb Crossbred - Show Class 2	1542	174	118	0	\$0.00	\$0.00
196	Jaramillo, Jaxon Lamb Crossbred - Show Class 1	843	171	111	1.5	\$166.50	\$0.00

Sale Program

Page 1 of

8/9/2024 10:57:34 AM